Math 5B Summer 2006 Final

Name:

Permu:

Your wotk must be neat and complete in order to receive full credit
You must label all axes on all graphs for full credit.

All answers should be left in exact form; only exact deecimals are fine For instance, 1/10 and 0 1 are both
acceptable, but 3 14 is not if the answer is &

It you need more space for work, use the back of the paper, but indicate on the fiont that thete is work on
the back



1) (15 points) State which of the following do not exist, then compute any which do exist
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(2) {20 points) Find any absolute maxima and absolute minima of f(r y)y = a4yt for 2% 7 <4
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(3) (15 points) Find the tangent plane and normal line to 2 + 3 + 2% = 0 at (2,2,1)
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(4) (20 points) (a) (5 puints) Sketch the 1egion R = {(z,y} € R¥|]x > ¢°, <1} Remember to label your
axes

{b} {5 points) (“onver% / 2o dA to an iterated integral of type I

}/f:z s d ydx

{c) (5 points) Convert / / 22 dA to an iterated integal of type IT
JiR

(d) (5 points) What is the volume beneath the plane z=2x for = > y°, x < 17
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(5) (15 points) Let x(w,v) = 2uv, wlu,v) = 1*v?, ylu,v) = u® - v*, and z(u,v) = u+v
(a) (10 points) Find %—((t[iii} 3 1 mean & matrix here, NOT its determinant.
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(¢) {5 points} Approximate v when v = 38 and z = 3. 1
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(6) (15 points) (a) (5 points) Compute % i dy where C is the unit ciicle traced once in the
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Extra Credit: Compute // ly — 2%|dA where R= {{z,y) € B? . 0< 2 <1, 0<y < i}
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